
    ا���
��ت ا�������� و ا���
��ت ا��������  

  :1ا������ 

 ،
��
����، و ��ABCD ا���� ��� H  
� �)  Bا�%� ' ا�&%�دي �"! �� �
"( ا�%  

(AC).  
    


ن BCHو  ADC: +�* أن  .1-+
���. 


ن ABHو  ADC: +�* أن .2-+
���. 

�0 ا�&/�� +�* ا�%.".�*  .3!�
"� ��ا+ABH2و  BCHا1 ،.  
  

  :2ا������ 


، �4EFG ا�%."3 ��
�EG = 7  و  
EF = 12  وEM = 6 وNG = 3,5.  

  EMN+�* أن ا�%.".
ن  .1


ن �5�دا ���� EFGو -+
���  
 6�7��
 �4 ه8ا ا�%--+
�7.  


4� MN = 4,5: إذا 
"%: أن .2��6 ا�%<
4 ،FG.  
  

  :3ا������ 

 *���ABC  �4 �=ا�<او (?
� 3".�A �� !ا� ،H  ا�&%�دي ' �ه� ا�%
 �� !"�A  (� ��)
"( ا�%BC(.  


ن �
ن ا�&%�د=
ن �"! ��  Mو  Lا�! �� �
"( ا���ا�� ا�% 

"(  Hه%
(AB)  و(AC).  


ن BACو  MAL+�* أن ا�%.".�* -+
���.  
  

  :4ا������ 

ABCD 
5
ط +�ا?�ة ���ه��5�ب  �

ا�%� '  H، و  [AC]  ر+
� �)  Aا�&%�دي �"! �� �)
"( ا�%BD(.  


ن ACDو  ABH+�* أن ا�%.".�*  .1-+
���. 

�0 أن .2!��BAH: ا1 � CAD� 

�0 أن .3!�AB: ا1 � AD � AC � AH  
  

  :5ا������ 

ABC  وEFG 3�5+ ،ن
.".� :AB = 6cm  وAC = 0,8dm  وBC = 1dm  و
EG = 9cm  وFG = 12cm  وEF = 15cm.  


ن EFGو  ABC+�* أن ا�%.".�* -+
���.  
  

��Eف(:6ا������ +(  
(C)  

  Oدا?�ة ��آ<ه-

&G4وcm.  

[BC]  ا?�ة�"� ���(C).  
 *���A  ا��ا?�ة *� �� �(C)3�5+ ، :ACB	 � 30°.  

 .�4B.(∆)  J� =(AC)  �4M ا�! �� (C)�"�ا?�ة  (∆)أر1) ا�%%
س  .1

�ABM: +�* أن .2 � 30°. 

��AB: +�* أن -أ .3 � �AC� 

�ABC  0و  AMB+�* أن ا�%.".�*  -ب!�
ن ، L) ا1-+
���
�AB:أن � AC � AM 


وي اNO/ع  OAB+�* أن ا�%."3  .4���. 

5.  (� ��� �) ا�%�ازي �"%�� �)  Oو ا�%
ر �*   (AB)ا�%�= �J ا�%
(AC)  �4N 6� .ON، أ>

6.  )"
 .A  J� =(BC)  �4Hو ا�%
ر �*  (BC)ا�&%�دي 


ن AHOو  AHB+�* أن ا�%.".�* �=
 ��.  
��>� ا�.
��=� ا�&���=� ا�%"���  *
  2007\2006:اOو�ى
� !���ة

  :7ا������ 

  
 ،S/
���� >��4ABCD 3 ا���� أ�� :AB = 8 cm  وAD = 4 cm  

E  �&� ا� *� �� �[DC]  3�<DE = 2 cm.  

ن BCDو  ADE+�* أن ا�%.".�* -+
���.  

  
  :8ا������ 

  
      ،S/

ن (C')  �4و  �4(C) ا���� أ�&T
 ��و  Bو  Aدا?�7
ن 


"( ا���ا��  
��آ<اه%O  وO'  *�� �) ا�%
ر �و ا�&%�دي  A، ا�%
 (� ��)
"( ا�%AB(  J� =(C)  �4E  )و ا��ا?�ةC'(  �4F.  

      (� ��� �)  ، وJ� =(C')  �4H ا��ا?�ة  (BE)ا�%�= �(BF)  Jا�%
  .�4G  (C)ا��ا?�ة 

ن BEGو  BHF+�* أن ا�%.".�*  .1-+
���. 

��ض أن �"�ا?��7*  .2V�(C)  )وC'ع  (
 �WV ا��&

� ABGو  ABH+�* أن ا�%.".�* �=
 ��
ن. 

  
  :9ا������ 

 *���ABC  *�&+�%ا� X!
 

ر�Y Z�!� ،
.".�ABEN  وACFM.  
 .MB = CN+�* أن  .1

2.  *�%� ����ان (NC)و  (MB)+�* أن ا�%
&��. 

  
  :10ا������ 

 *���ABC  3�5+ 
.".�AB = 5  وAC = 7  وBC = 8.  
    
.".�
+X ا�%."A'B'C'  3إذا 
"%: أن �=ABC ه� X��5� 30، و أن 

X
/Nال أ�T6 أ�<
4 ،.  
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http://www.9alami.com/   adnanemath@gmail.com  ن أآ���ط��
 ذ.


